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Arithmetic of Exponents (Negative Exponents)

1 + (−3) =(−1) (−10) + (−10) =2

8 + 10 =0 6 − 8 =(−2)

(−1) − (−4) =2 10 − 6 =(−1)

1 − (−3) =2 (−10) + (−2) =(−1)

5 + (−3) =(−2) (−8) − (−1) =(−1)

(−7) + (−4) =0 3 − 5 =2

5 − (−7) =(−2) 8 + (−1) =(−1)

3 + (−3) =(−2) 3 + 1 =2

(−8) − (−8) =2 (−9) + (−10) =2

(−8) + 8 =2 8 − 4 =(−2)
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Exponents (Negative Exponents)

1 + (−3) = (−2)(−1) (−10) + (−10) = 902

8 + 10 = 110 6 − 8 = (− ) = (−7 )(−2)

36
287

36
35

(−1) − (−4) = 52 10 − 6 = (− ) = (−5 )(−1)

10
59

10
9

1 − (−3) = 42 (−10) + (−2) = (− ) = (−2 )(−1)

10
21

10
1

5 + (−3) = (− ) = (−2 )(−2)

25
74

25
24

(−8) − (−1) =(−1)

8
7

(−7) + (−4) = (−3)0 3 − 5 = 42

5 − (−7) = = 7(−2)

25
176

25
1

8 + (−1) = (− )(−1)

8
7

3 + (−3) = (− ) = (−2 )(−2)

9
26

9
8

3 + 1 = 102

(−8) − (−8) = 722 (−9) + (−10) = 712

(−8) + 8 = 722 8 − 4 = (− ) = (−3 )(−2)

64
255

64
63
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